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Question Number : 1 Question Id : 26723610881 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A uniform thin rod of mass M and length Lis in pure translatory motion with its
centre of mass velocity V. It collides with and sticks to a second identical rod
which is initially at rest. Finally, it becomes one uniform rod of length 2L. The

angular speed of the uniform rod of length 2L will be:

(D) None of these
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 1 Question Id : 26723610881 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 2 Question Id : 26723610882 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A river of width 4 km is flowing with the speed of 5 km/h. A swimmer whose
swimming speed relative to the water is 4 km/h, starts swimming from a point
A on a bank. On the other bank B is a point which is directly opposite to A. What
minimum distance the swimmer will have to walk on the other bank to reach
the point B.
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(B) 1km

(C) 2km

(D) 3 km
Options :
1.¥v A
2. # B
3.% C

4. % D

Question Number : 2 Question Id : 26723610882 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C
4. % D

Question Number : 3 Question Id : 26723610883 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



[n the circuit shown in the figure, [1. 12, [3, 4 denote current in the branches.

Choose the correct option.
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(A) I1>12>13>14

(B) N=12>13>14

(C) NN<I3<I2<I4

(D) R2<I1<I3<14
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 3 Question Id : 26723610883 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(9) 1T=12>13> 14

(™) 11 <13 <I2 <14

(1) 12 <IT <I3 <I4
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 4 Question Id : 26723610884 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A current carrying conductor consists of a circular part and two very long straight
parts as shown. It carries a steady current i'. Magnetic field at the centre of
circular part is:

(A) Hol

- (1 + 2—”) coming out of the plane of paper

(B) %(1 + 3?1[) going into the plane of paper

(€) %(1 + z?ﬂ) coming out of the plane of paper

(D) #ot

am\ .
p— (1 + ?) going into the plane of paper

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 4 Question Id : 26723610884 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 5 Question Id : 26723610885 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



There are four concentric conducting thin shells A, B, C and D of radii a, 2a, 3a
and 4a respectively. Shells B and D are given charges +q and —q respectively.

Shell C is now earthed. The potential difference VA - VCis:

(A) q
4ne,)3a

r—

(B) q
dne, )23

p—

(©) g
4ne, )6a

—

(D) q
(4?1:80 )43

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 5 Question Id : 26723610885 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C
4, % D

Question Number : 6 Question Id : 26723610886 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



The path in the form of arc AB with centre C and infinitely long wire having
linear charge density | are lying in the same plane. The minimum amount of
work to be done to move a point charge q0 from A to B through a circular path

AB of radius a is equal to:

o + + + + +
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(A) g, [2]

2,
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(B) g,
Jﬁnaﬁ
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2ne, \3

®) qp, (15
2ne, Er{ 3 J

Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 6 Question Id : 26723610886 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4, % D

Question Number : 7 Question Id : 26723610887 Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
One mole of an ideal monoatomic gas undergoes a process V =al?2. The

temperature of the gas increases by 100 K. The molar heat capacity for the

process is:

(A) R
2

(B) SR

€ 7R

D) SR
3
Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 7 Question Id : 26723610887 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. %D

Question Number : 8 Question Id : 26723610888 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



During an experiment, an ideal gas is found to obey a condition of the gas].
The gas 1s initially at temperature T, pressure P. The gas expands such that

density changes to half of initial.

(A) The pressure of the gas changes to /2P,
(B) The temperature of the gas changes 2T.
(C) The graph of the above process on the P-T diagram is parabola.

(D) The graph of the above process on the P-T diagram is hyperbola.
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 8 Question Id : 26723610888 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 9 Question Id : 26723610889 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A point object P is placed at a distance of 10 cm from a thin equi-concave lens

of focal length 10 cm and made of material of refractive index [ = 1.5. One of
the surfaces of the lens is silvered as shown in the figure. The distance of image

of object P from the optical centre of the lens is.

u=1.5

(A) 2 cm right to the optical centre

(B) 2cm left to the optical centre

(C) 5cmright to the optical centre

(D) 5 cm left to the optical centre
Options :

1.¥A

2. % B

3.% C



Question Number : 9 Question Id : 26723610889 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.9 A
2. % B
3. % C

4. % D

Question Number : 10 Question Id : 26723610890 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A parallel beam of light is incident at an angle [=30° to the slits plane as
shown in Young’s Double Slit Experiment. Intensity due to each slit at any
point on screen is 10. The distance between slits is | mm. The intensity at point

O on the screen is

\u ?1 o
N

Sz Screen

(A) lo

(B) 21

(C) 31

(D) 4lo
Options:
1.¥ A

2. % B
3.% C

4. % D

Question Number : 10 Question Id : 26723610890 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 11 Question Id : 26723610891 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Two plane longitudinal waves propagating in the x and y direction in a
homogeneous elastic medium, superimpose. The wave equations of these waves

are as below:
v, = Acos( ot —kx]
and vy, = Acos(ot -ky)

The shape of the trajectory in plane xy, on which the particles on the line

y=X+(2n+ 1)% oscillates, is:
(A) straight line
(B) circle
(C) ellipse

(D) None of these
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 11 Question Id : 26723610891 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 12 Question Id : 26723610892 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The x-z plane separates two media A and B of refractive indices p, =1.5
andp, =2. A ray of light travels from A to B. Its directions in the two
media are given by unit vectors U, = a7+bi and u, =cf+d], then:

b
d
Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 12 Question Id : 26723610892 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C
4, % D

Question Number : 13 Question Id : 26723610893 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The HOMO in CO molecule is
(A) Pi-bonding orbital
(B) Pi-Antibonding orbital
(C) Sigma-Bonding orbital

(D) Sigma antibonding orbital.
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 13 Question Id : 26723610893 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. # B

3.% C



4. % D

Question Number : 14 Question Id : 26723610894 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The electronic configuration of an element is 1s2 2s? 2p®. Its ground state atomic

term will be:

(A) Py

(B) °P

(C) P

(D) *Ssp
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 14 Question Id : 26723610894 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 15 Question Id : 26723610895 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following complexes has zero Crystal Field stabilization energy?

(A) [Mn (H,0))**
(B) [Co (H0))*
(C) [Fe (H:0))*

(D) [Co (H.0)6)**
Options :



1.9 A

3.%C

4. % D

Question Number : 15 Question Id : 26723610895 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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() [Mn (Hz0)e]**

@) [Co (H20)6]?*

Q) [Fe (H20)e)**

) [Co (H20)6]**
Options:

1.4 A

2. % B

3. % C

4. % D

Question Number : 16 Question Id : 26723610896 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The mathematical relation for first law of thermodynamics is:
(A) AE=g-w
(B) AE=0, for a cyclic process
(C) AE=q, for isochoric process

(D) Al of these
Options :

1.¥v A

2. % B

3.% C

4. % D

Question Number : 16 Question Id : 26723610896 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 17 Question Id : 26723610897 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following salt will have lowest pH?

(A) Kl

(B) NaHCO;

(C) NazS0q4

(D) NHCI
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 17 Question Id : 26723610897 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



frafafed & 9 fou Hiee &1 pH Ta9 $H ghm?
(@) KClI

@) NaHCO;

) Na2SOs

|) NH4Cl
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 18 Question Id : 26723610898 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The colour of potassium dichromate is due to

(A) Metal to ligand charge transfer
(B) Ligand to metal charge transfer
(C) d-d transition

(D) Transition in K*ion
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 18 Question Id : 26723610898 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 19 Question Id : 26723610899 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The equivalent conductance of the solution of an electrolyte is given by

')

Where k is the specific conductance and V is the volume containing 1gm equivalent of

the electrolyte.

(D) (1000Xk)/V
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 19 Question Id : 26723610899 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. # B

3.%C

4. % D

Question Number : 20 Question Id : 26723610900 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Two hypothetical acids HA and HB have the dissociation constant 1X10° and 1X10°

respectively in water. How many times HA is stronger than HB?

(A) 10times

(B) 100 time

(C) 1000times

(D) 0.1times

Options :



1.9 A

3.%C

4. % D

Question Number : 20 Question Id : 26723610900 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.9 A
2. % B
3. % C

4. % D

Question Number : 21 Question Id : 26723610901 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following molecule will not show IR spectrum?
(A) HBr
(B) CH,
(C) Cl;

(D) H0
Options :
1.4 A
2. % B
3.%C

4. % D

Question Number : 21 Question Id : 26723610901 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

frafoiRad & § &9 91 3] IR WaeH gl feamm?

() HBr
@) CH4
) Cl>
(d) H20
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 22 Question Id : 26723610902 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The Number of vibrational degrees of freedom for a toluene molecule are

(A) 15

(B) 18

(C) 40

(D) 39
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 22 Question Id : 26723610902 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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() 15

@) 18

) 40

) 38

Options :
1.¥ A
2. % B
3.% C

4. %D

Question Number : 23 Question Id : 26723610903 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



At a certain temperature, the following observations were made of the reaction

A - Products

Time [A] in moles/lit
2min 5X10°%
5min 4X1073
8min 3x10°
11min 2X10°

The order of the reaction is:

(A) 0

(B) 1

(©) 2

D) 3
Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 23 Question Id : 26723610903 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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2min 5X1073
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8min 3X1073
11min 2X1073
RUaRH &1 %9 &:

() 0

() 1

@0 2

() 3

Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 24 Question Id : 26723610904 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The oxidation number of Oxygen in H;0, OF; KO; and H;O; are respectively:

(A) -2,+2,-1/2,-1

(B) +1,-1,-2,-2

(C) +2,-2,+#1/2,-1

(D) +2,-2,-1,+1
Options :

1.¥v A

2. % B

3.% C

4. % D

Question Number : 24 Question Id : 26723610904 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

H20, OF», KO, 3R H,0, ¥ TS &1 Sifeftepvur Tem AT ¢

@) 2+2,-1/2,-

@  +1,-1,-2,-2

Q) +2,-2,+1/2, -1
(1) +2,-2,-1,+1
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 25 Question Id : 26723610905 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Toluene reacts with bromine in presence of FeBr; to give whereas in

presence of light it mainly gives

(A) p-Bromo toluene, o-Bromo toluene

(B) o-Bromo toluene, p-Bromo toluene

(C) p-Bromo toluene, Benzyl Bromide

(D) Benzyl Bromide, p-Bromo toluene
Options:

1.¥A

2. % B

3.%C

4. % D

Question Number : 25 Question Id : 26723610905 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 26 Question Id : 26723610906 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following does not possess plane of symmetry?

(A) ethane
(B) mesotartric acid
(C) (+) tartric acid

(D) Trans -1,2-dichloroethane
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 26 Question Id : 26723610906 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 27 Question Id : 26723610907 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following does not exist as a Zwitterion?
(A) Glycine
(B) Alanine
(C) Sulphanilic Acid

(D) p-aminobenzoic acid
Options :

1.4 A

2. % B

3.%C

4. % D

Question Number : 27 Question Id : 26723610907 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fFafafad § 3 1 sdicRei| & &u # Higg 181 82

TArsiRE
(@) SRIEES
Q) getpferd URTS

(d) gi-sHiHIdIs S thre
Options:

1.¥A

2. % B

3.% C



4. % D

Question Number : 28 Question Id : 26723610908 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The correct order of bond angle in H;0, NHs, BCls and CHa is:

(A) H20 < NH;<BCls < CHq

{B) H.O < NH; <CHs < BC|3

(C) NH3 <H;0 < CH4 < BCl;

(D) H:0 <BCl; < NH3< CH4
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 28 Question Id : 26723610908 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



H>0, NHs, BCl; and CH4 & €TUg UTTl 1 gl e R ¢

(P) H20 < NH3 < BClz < CH4

@ H-O < NH3z < CHs4 < BCl3

@) NHz: <H>0 < CH4 < BCl3

(T) H20 < BCl3 < NH3< CHa
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 29 Question Id : 26723610909 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
FFor preparing a buffer solution of pH 6 by mixing sodium acetate and acetic

acid, the ratio of concentration of salt and acid (Ka = 10-5) should be

(A) 1:10

(B) 10:1

(C) 100:1

(D) 1:100
Options :

1.¥A



3.%C

4. % D

Question Number : 29 Question Id : 26723610909 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Hifsam tfiee 3R fifed uRie @ fdTaR pH 6 &1 T TIeged daR
&Y & fo7G, Wee SR TS 1 Higal 13U (Ka = 10-5) B 96T

(P) 1:10
(9) 10:1
) 100:1

(1) 1:100
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 30 Question Id : 26723610910 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



What is the point group of naphthalene?

(:‘51..} Sin

{B) Cd-'.r

(C) Dan

(D) Tq
Options :
1.¥ A

2. % B
3.%C

4. % D

Question Number : 30 Question Id : 26723610910 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

AHYcA HT Uige YU &1 82
(h) S2n
() Cav
) Dan
() Ta
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 31 Question Id : 26723610911 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The interval in which the Lagrange's theorem is applicable for the function f(x) =
1/x is

(A) [_3; 3]

(B) [22]

(C) [2,3]

(D) [-1,1]
Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 31 Question Id : 26723610911 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



SiaRTet Forad s U B £ (x) = 1/ x 3 FoI0 ang gl &
@ 133
@ 22

m [2, 3]

(T [-1, 1]

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 32 Question Id : 26723610912 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The function f(x) = x3 - 6x2 + 9x + 25 has

(A) amaximaatx=1andaminimaatx=3
(B) amaximaatx=3andaminimaatx=1
(C) no maxima, buta minimaat x=3

(D) amaxima at x =1, but no minima
Options :
1.+ A

2. % B



3.% C

4. % D

Question Number : 32 Question Id : 26723610912 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
HaMH f (x) = x3 - 6x2 +9}(+25%r

x = 1 R TH AYHaT AR x = 3 W TS FAdH

@) x = 3 R TP HHIH 3R x = 1 WIS FAaH

Q) s AHfUHaH a1, Afd x = 3 W TS FAdH

() x = 1 R HfYHdH, Afh DIg FgAay gl

Options:
1.¥ A
2. % B
3.% C

4. # D

Question Number : 33 Question Id : 26723610913 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



What is the derivative of f(x) = | x| atx=0
(A) 1
(B) -1
(C) O

(D) Does not exist
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 33 Question Id : 26723610913 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
f(x) = | x| DT x = 0 IR BT GdA T &

(= KIS R B R
Options :

1.9 A

2. % B

3.% C



4. % D

Question Number : 34 Question Id : 26723610914 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Iff(0)=2andf(x)=1/ (5-x2), then lower and upper bound of f(1) estimated by the
mean value theorem are

(A) 2,225

(B) 22,2.25

(C) 22525

(D) None of these
Options :

1.¥A

2. % B

3.%C

4. % D

Question Number : 34 Question Id : 26723610914 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



R F(0) = 2 ARF () = 1/ (5x2) B, o H deg A3ARA ZRI 3R £ (1)

& @R AR AR INS &
() 2,2.25
@) 2.2,2.25
) 22525
@  FHIBET
Options :
1. ¢ A
2. % B
3. % C
4. % D

Question Number : 35 Question Id : 26723610915 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Ifx+y=k, x>0,y>0, then xy is maximum when

(A) x=ky

(B) kx=y

(C) x=y

(D) None of these
Options :

1.+ A



3.%C

4. % D

Question Number : 35 Question Id : 26723610915 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

g x +y =k x> 0,y> 0, Al xy f¥HdH 8 5&

() x = ky
(@) kx =y
Q) Y

@) T Pl Tl
Options :

1.4 A

2.% B

3. % C

4. % D

Question Number : 36 Question Id : 26723610916 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A differential equation is considered to be ordinary if it has

(A) one dependent variable
(B) more than one dependent variable
(C) oneindependent variable

(D) more than one independent variable
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 36 Question Id : 26723610916 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

afe Va1 8, ) U 3 IHIBU1 &1 JTH=I HHT 91T &

(@) U AT TR

@) T O Hfed A TR

Q) Uh Wad TR

(9) T I 3ifeeh Wi ™
Options :

1.¥ A

2. % B



3.% C

4. % D

Question Number : 37 Question Id : 26723610917 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Determine the order and degree of the differential equation,

Zxd y+5 (dx)g—xy:().

(A) Fourth order, first degree
(B) Third order, first degree
(C) First order, fourth degree

(D) First order, third degree.
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 37 Question Id : 26723610917 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



AR GHIHIUT & 3SR 3R feilt o1 fAufor &3

a‘y w2 (ay 3 _
b Frriey 5X (d_r) —xy = 0.

(@) B1Y 3fTey, P Sl
@) Yg 3y, B feult
Q) T 3ffsy, By feit

(3 B 3ilsy, ¥ f&it
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 38 Question Id : 26723610918 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Which of the following functions can be used as an integrating factor to turn the
following non-exact equation into an exact equation?

(3y cos X — xy sin x) + 2x cos x (dy/dx) =0

(A) x%
(B) xy’
(C) xy

(DJ X Zvl



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 38 Question Id : 26723610918 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Fafead 3iH-Tasiae 362 B To F4-Udbiae H daer o fore fgfifed
e H Y D W1 T UPIgd BRD b &Y H YO b2 31 el 87

(3y cos x = xy sin x) + 2x cos x (dy/dx) =0

M Xy

) x2y2
Options :
1.¥ A

2. # B

3.% C

4. % D

Question Number : 39 Question Id : 26723610919 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The set of integers Z with the binary operation "*" defined as a*b =a +b+ 1fora,b €
Z, is a group. The identity element of this group is

(A) 0

(D) none of the above
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 39 Question Id : 26723610919 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
7 QUIich] & §T & 1Y TG SHORTA "' P g URHIT a*b =a +b+ 1
$ftUa,bez TH YU | 59 TE $I SMSiect Ter 8

() 0
Q) 1
M -1

@ TR

Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 40 Question Id : 26723610920 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is TRUE ?

(A) Set of all rational negative numbers forms a group under multiplication

(B) Set of all non-singular matrices forms a group under multiplication

(C) Set of all matrices forms a group under multipication

(D) Both (B)and (C)
Options :

1.9 A

2. * B

3. % C

4. % D

Question Number : 40 Question Id : 26723610920 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



T i Y P QT HY T8l § 2

@ g ol Hures SeTsf &1 9Hg UH & Jfdvid U TYE &I &

@ gt AR Afeew o1 3e 7on & d5d U THg &I 8

M Tt Afed o1 e WeetRiehe o d8d U GHE ST ¢

®) Al (@) 3R (M)

Options :
1.4 A
2. % B
3.%C

4. % D

Question Number : 41 Question Id : 26723610921 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Egg cell of an angiosperm has 12 chromosomes, its endosperm will have ___ and root

hair will have ___ number of chromosomes respectively
(A) 36;12
(B) 24;24
(C) 36;24

(D) 24;36
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 41 Question Id : 26723610921 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25

T GO & ofS &1 DI H 12 UG B1d 5, 59 TSRGH H HAT:

_ R EETRUFHAY: GBI A A g

(@) 36; 12
() 24; 24
) 36; 24

) 24; 36
Options:
1.9 A

2. % B

3.%C

4. %# D

Question Number : 42 Question Id : 26723610922 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Identify the most common cariogenic causative agent of periodontal diseases

(A) Streptococcus mutans

(B) Staphylococcus aureus

(C) Clostridium botulinum

(D) Escherichia coli
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 42 Question Id : 26723610922 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fiRgsiea dHHREl & Jad DA Divaie IR Toe oI Tgar B

@ KUY T
@) WIhAIBIEY AR3
M KIS s

&) SeRIfhal Brett

Options :
1.+ A
2. % B

3.% C



Question Number : 43 Question Id : 26723610923 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In humans tooth enamel is normally white, however a mutation results in brown

enamel which is a X-linked dominant mutation. If a man with brown enamel marries a
woman with white enamel and has a daughter and a son. Can you predict the enamel

color of their daughter and son?

(A) Daughter will have white enamel while their son will have brown enamel

(B) Daughter will have brown enamel while their son will have white enamel

(C) Both son and daughter will have half the probability of white or brown enamel

(D) Daughter will have white enamel but son will have half the probability of brown or

white enamel
Options:

1.¥A
2. % B
3.% C

4. % D

Question Number : 43 Question Id : 26723610923 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Tt & ol el o AR W TG gl 8, graifes 4R 3 & el
TP JNEH il ¢ ol U Uau-fofee e Saac g1 g ¥ &1 &
et & Y U SMEH Gk arRiAT & WY U Hige ¥ et SRl §
AR ITP! U 9t 3R U deT g1 1 319 It 9t 3R 9¢ b a3

I JIITAH B o 82
@) o UM glhe dHdNI gRi Sialds 3T a¢ & TR HY 10 i T gl
@ oS U R el g el 3 o & U wibe dreE grt
M 9IRS N P Wb A R T P A Bt ot e g

@ oS U g drwiiAl g clfch 9 & UR 4R 71 e I f Sfret
e g

Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 44 Question Id : 26723610924 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Identify the types of enzyme inhibitions correctly in the following figure:

A. B

Y.

Inhibitor

v

(A) Both Fig A and B are examples of mixed inhibition
(B) Fig A: Competitive inhibitor; B: Non competitive inhibitor
(C) Fig A: Non Competitive inhibitor; B: Competitive inhibitor

(D) Fig A: Non-Competitive inhibitor; B: Mixed inhibitor
Options :

1.¥ A

2. % B

3.% C

4. %D

Question Number : 44 Question Id : 26723610924 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



fafaRad stopfd o TomgH SraR1el & YbRT & Je! &1 F gl

A) B)

v w

@  FEA IR ff¥a siqefyr & e §
@) ferm A: ot sraRie; 8: R ufordf sraRiee
) fed A - TR Uferas sraRiyes; B: ufcrqslt sraRiy & aren

(H) %ﬂA:ﬂT—Hﬁmiﬁmﬁ;B:ﬁmﬁmﬂww
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723610925 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Removal of phosphoryl groups is catalyzed by and an exampleis (choose the
appropriate answer)

(A) Phosphatase; PTEN
(B) Kinase; PI3K
(C) Reductase; PTP

(D) Synthase; diphtheria toxin
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723610925 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

1P ING T B JU® ST R SAIN [l STl § 3R U SaTexy
¢_ RRa R

@)  Bihey: PTEN
@) {59 PI3K
Q) gaey; diddt

@  Ricw fewiifva i
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 46 Question Id : 26723610926 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The two amino acids with R groups, having net negative charge at pH 7 are:

(A) Cysteine and Methionine

(B) Aspartate and Glutamate

(C) Cysteine and Glutamate

(D) Arginine and Lysine
Options :

1. A

2.% B

3. % C

4. % D

Question Number : 46 Question Id : 26723610926 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



R FHE & W1y &I 3HAI TRTE, pH 7 R Y& BUTEHD AT &;
() Rred= SR A=
Tree 3R eme

) R iR weere

) 3MfSif SR TR
Options :

1.4 A

2. % B

3.%C

4. % D

Question Number : 47 Question Id : 26723610927 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The following chemical is used to permeabilize a cell for uptake of DNA during
preparation of competent cells

(AJ CECD}
(B) Nacl
(C) CaCl

(D) Glycerol
Options :
1.4 A

2. # B

3.% C



4. % D

Question Number : 47 Question Id : 26723610927 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

frafeiad sl @1 Suan Fem SRR $t R & GRHE DNA &

I & o0 U@ 0 31 580 A o (o7 o ST &
(@) CaCOs
@) NaCl
) CaCl
(%) eI
Options :
1. A
2. % B
3. % C
4, % D

Question Number : 48 Question Id : 26723610928 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



What is a DNA library?

(A) ADNA segment which has been sequenced

(B) A collection of DNA fragments that make up homologous parts of genome of similar

organisms
(C) Acollection of DNA fragments that make up the entire DNA of an organism

(D) Library of books (including ebooks) on DNA sequencing
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 48 Question Id : 26723610928 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

DNA S8l 1 ¢ ?
(@) T% DNA T o g far man g

@  DNATHS &1 TH G o GHF ol B o 3 wRe vl ) T

M) DNA el &1 Ud |UE ol U Wild & X DNA &I &1

®) DNA R R Tida! &1 Tadiad (9% Gie)
Options :

1.¥ A



3.%C

4. % D

Question Number : 49 Question Id : 26723610929 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The following 2 organelles are thought to be evolutionarily remnants of

endosymbionts:

(A) Nucleus and Mitochondria

(B) Lysosomes and Golgi apparatus

(C) Chloroplasts and Lysosomes

(D) Chloroplasts and Mitochondria
Options :

1.¥A

2. % B

3.%C

4. % D

Question Number : 49 Question Id : 26723610929 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Frofafed 2 ol @1 TSR & Hite w0 ¥ 3@y JH oIl 8
@) R o i
@ g ok et sde
Mm TR R AT

) FIRIERE AR Aeieifgan
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 50 Question Id : 26723610930 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Identify the statements that are true about Mitochondria

i.  More than 70% of the protein content is present in the outer membrane

i.  There is generation of clusters of iron and sulphur in mitochondria

i.  Liver cells do not have mitochondria while erythrocytes have more than
hundred mitochondria

iv.  They are called powerhouse of the cell since they synthesize ATP

(A) All statements are correct

(B) (i), (iv) are correct

(C) (i), (ii), (iv) are correct

(D) (i), (iii), (iv) are correct

Options :



1.+ A

3.% C

4. % D

Question Number : 50 Question Id : 26723610930 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

3 B D UGAH B ol Hrec il & SR A ¥4 §

L et iyt # 70% ¥ oiftre v wreht e 8

i, oliea d g SR G & Tl @I S gidl §

i, foreR PIRp1eH | wrECIPISa ol Bidl 8, Safd TRiEEey § €
¥ P RIS B §

v, ATP @I TSR H¥ & 91¢ § 3% 90 &1 UaNeIay &gl ol o

@ g e udE
@ (i) (v) 96T
M (i), (i), (iv) BT

@ ), G, (v) TG
Options:

1.¥ A

2. % B

3. % C

4. % D

Question Number : 51 Question Id : 26723610931 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Aguaporins are a class of plant proteins (identify the correct statements)
i. Aquaporins form water channels in membranes
ii. Their activity is regulated by phosphorylation
iii. Activity of aquaporins is regulated by calcium concentration

iv. They form gated channels in plants

(A) All statements are correct

(B) (i), (ii) are correct

(C) (i), (ii), (iv) are correct

(D) (i), (iii), (iv) are correct
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 51 Question Id : 26723610931 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



UBUINE UIey UidH &1 U6 a7l § (Wel HUi &1 UgaH &)

. USOING He¥y H diex o7 d 1 ¢

i, 3! nfafaft wrepRgewH g1 Adfd gidt 8

iii.  TPTONA B! fafafd Pt ickraw Figdr gry Fafd forar s &
iv. 3O H e <A &I §

(@) gt puT gl
@) (), (i) 92 §
(M) (), (i), (iv) T ¢

@ () (i), (v) T
Options :

1.¥ A

2. % B

3. % C

4. # D

Question Number : 52 Question Id : 26723610932 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Shade loving plants are called __; Salt tolerant plants are called ___; plants that grow
best in full sunlight are called

(A) Heliophytes; Sciophytes; Halophytes

(B) Heliophytes; Sciophytes; Salinophiles

(C) Sciophytes; Halophytes; Heliophytes

(D) Heliophytes; Halophytes; Sciophytes

Options :



1.9 A

3.% C

4. % D

Question Number : 52 Question Id : 26723610932 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

STITGR U1l &1 __ Fgl il §; TS Gg1d Uil & __ gl offenl ¢, T0 9
FUPIAIH AT NN FEI el &

@ o eRey; UEhIhRY. sapRed

@  efcRipReY; HEdpRey; it

M  AEHGRECY, FIECY, SlbEey

@) BICRIBIICH; BalbrRCY: HEdhEey

Options:
1.¥ A
2. % B
3.% C

4. # D

Question Number : 53 Question Id : 26723610933 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In an aquatic ecosystem, at the bottom of the stagnant pond where the production is
less than respiration is called

(A) Benthic Zone

(B) Tidal Zone

(C) Limnetic Zone

(D) Profundal Zone
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 53 Question Id : 26723610933 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T Wit URfRIfat o7 1 FRR Uive & del W oig] Saile 49 € S gl

&, eI STl §
@  dfedur
@  feawm
m e dE
@  dheadn
Options :

1.¥A

2. % B



3.% C

4. %D

Question Number : 54 Question Id : 26723610934 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Instrument that measures transpiration rate is while the rate of evolution of
oxygen by aquatic plants is measured by

(A) Potometer; Audus apparatus

(B) Audus apparatus; Podometer

(C) Sphygmomanometer; Podometer

(D) Oxidirect; Audus apparatus
Options :

1.¥ A

2. % B

3. % C

4. %D

Question Number : 54 Question Id : 26723610934 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Ao &3 A0 aTdl UBRY & Wi§i Wity Ui gRT e &
el gRIAd ot &

@) U ey ey
@ ey ey v
Q) RpHEHICT: TreiHiey

@ iR, ey ey
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 55 Question Id : 26723610935 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

are plant hormones responsible for fruit senescence and their name has been
derived froma

(A) Gibberellins; fungus
(B) Auxins; fungus
(C) Gibberellins; gymnosperms

(D) Cytokinins; Cyanobacteria
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 55 Question Id : 26723610935 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

ua_ci‘%ao‘@ﬁwﬂi%umqlu"i _ WiegMA ARSI A W form
BIp||

() freRfer: g
(9) Sﬁﬁ'ﬂqm
(™ fvarfer: foread

®) R AT L A ERIER|

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 56 Question Id : 26723610936 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not a plant derived secondary metabolite?

(A) Terpenes
(B) Alkaloids
(C) Phenolics

(D) Amino acids
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 56 Question Id : 26723610936 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Frafafed § 9 oF W fidioe deRiage § sgaa iy 81 87

(@) dRUY

@) TchalisS
) BHIfcrag
©) A TS
Options :

1. A

2. % B



3.% C

4. %D

Question Number : 57 Question Id : 26723610937 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Name the plant movement in response to touch

(A) Seismonasty

(B) Thigmonasty

(C) Rheotaxis

(D) Phytonasty
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 57 Question Id : 26723610937 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥v A

2. % B

3.% C

4. % D

Question Number : 58 Question Id : 26723610938 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Phycoerythrin which is a fluorescent dye used extensively in flowcytometry is derived

from algae

(A) Rhodophycophyta

(B) Xanthophycophyta

(C) Chlorophycophyta

(D) Phaeophycophyta
Options:
1.¥ A

2. % B



3.% C

4. %D

Question Number : 58 Question Id : 26723610938 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. % B

3. % C

4, % D

Question Number : 59 Question Id : 26723610939 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



African sleeping sickness and early blight of potato are causedby  and
respectively

(A) Protozoa; Protozoa

(B) Protozoa; Fungi

(C) Fungi; Protozoa

(D) Algae; Protozoa
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 59 Question Id : 26723610939 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.4 A

2. % B



3.% C

4. %D

Question Number : 60 Question Id : 26723610940 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Oogenesis, a process that generates female gametes is halted at Prophase 1 till
puberty, hence before puberty, female gametes have:

(A) 46 chromosomes

(B) 23 chromosomes

(C) 23-48 chromosomes depending on age

(D) 46 chromatids
Options :

1. A

2. % B

3.% C

4. %D

Question Number : 60 Question Id : 26723610940 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D
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